
 EXTRUSIONE001020816

 TIMINGBELT 100BATK10-PAZ/434039.000020315

 DATA PLATE SMALLE009391714

 POP RIVET ALU Ø4x858.060000523

 RETURN PULLEY ASSYA19003912

 DRIVE PULLEY ASSYE003880211

DimensionsDESCRIPTIONPART NUMBERQTYITEM

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

8-7-2019

A2

PB

Description:

Date:

Drawn:

Extra info:

 All rights reserved. Reproduction is not permitted without
written permission of GOUDSMIT Magnetic Systems BV

ISO268; ISO1101; ISO2553

ISO 2768- mK

HCT-E-B100-2000-C-R-N

Sheet:

Drawn according:

General tolerance:

TCMO100222

Part number:

Spare part:

Weight (kg):

Document number:Quick search:

Status:

Customer reference number:

TIMING BELT CONVEYOR

-

False

101,3

Released

E0113805
TCMO100

1

Quantity Material Number Material Description Length (mm)

RAW

MAT.

Width (mm)

Doc.Rev:

-

Rev:

Source:

REV DATE BY DESCRIPTION

-

12-4-2019 PB REFERENCE MODEL: TCMO100200

35Ø

1
1
0

P
U

L
L

E
Y

 

1
6
3

O
U

T
S

I
D

E
 

2
4
0

S
H

A
F

T
 

2000

6

2

TRANSPORT DIRECTION

5

4

3

1

3
5
,
4

1
6
3

25

3
0

M6x1 - 6H

2
4
,
4

3
5

M8x1.25 - 6H

M8x1.25 - 6H

27,5

12832

3
5

M8x1.25 - 6H

M6x1 - 6H

M8x1.25 - 6H

3
5
,
5

2
4
,
5

32

51,5

152,5


